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What is WRONG with this frequency polygon?
>

Some snakes are measured.

Draw a Frequency Polygon. o~ 4
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crossword puzzle. 1
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Some boys and girls solved the same logic puzzle.

The frequency polygon for girls is drawn.

Draw the boys frequency polgon and compare the data.
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Using this frequency table draw the

e cumulative frequency curve
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Using this cumulative frequency curve.

E Fill in the frequency table
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Draw the box plot
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River A

These are 2 box plots that show

the lengths of fish in 2 different
rivers.

Compare the lengths of the fish.
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True or False?
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Q1 50% are longer than 51mm
Q2 The longest is 74mm
Q3 The Upper Quartile is 62mm.

True or False?
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Q1 The longest 25% are longer than 66mm

Q2 The shortest is 26mm
Q8 The IQR is 22mm
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10 20 30 40 50 Draw the box plot for this curve below
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50 Draw the box plot for this curve below




